SCANTO SEE

‘B/ARRICADE.

INSTALL VIDEO

ADVENTURE MIRRORS

(1966+ WRANGLER CJ, YJ, TJ, JK, & JL)

INSTALLATION INSTRUCTIONS

M8 Stainless Flat Washers
M8x1.25 20mm Stainless Bolt

4
2

CONTENTS TOOLS REQUIRED
(2)Mirrors 13mm Box End Wrench
(2) Black Powder Coated Mirror Bracket 15mm Box End Wrench
(4) M10x1.50 Flange Nuts 4mm Allen Wrench

(2) M10 Lock Washer

(4)

(2)

SKU # J102352



STEP1

Install the door hinge post onto the vehicle’s door hinge bracket. Use (2) Flange Nuts and (1) Lock
Washer per post.

STEP 2

Install the mirror to the post using (1) Washer and (1) Bolt per mirror.



STEP 3

Adjust the mirror as needed for your driving position. Once adjusted, tighten the (3) Allen screws
on the back of the mirror. The Allen screws secure the mirror in place.

Installation is now complete.



	J102352 - Barricade - Adventure Mirror (87+ Wrangler)-01
	J102352 - Barricade - Adventure Mirror (87+ Wrangler)-02
	J102352 - Barricade - Adventure Mirror (87+ Wrangler)-03

